oooood mogon

20040 90 170

1 00

1.1 000

oooQoOpooOoOoQoooOOobO ¢g0OO0O0OOOOOOOODOOODOOOOOOODOODOOOOODODOO

1.2 000

gobooooooooboooboobooboooOobooOobOOobobooOooobooooboooboooo
gbooooboooooboboobobooboobobooooboooboooobooooo

A= (0, Ba, 0) (1)
A (_B;! b o) )

1.3 000oooogod

0000000000000 00000oo 03(T)00 0000000 0ND000DO0OD IMOO00O0OO
00000 1m/sec] 0000000000000 O00O0OO0OU0OOOOOOOOODOOOOOUOOOOOO

1.4 0OOO0ooogn
1.4.1 0000000000

gboboobobooboooobooooobooo

1.5 0O0o0ooOoO0

obbOg¢OO0bOO0O0OoObOO0ObOO0obOOobOoobOoObObOO FOOOO



